Mathematics

Number and Algebra



Mathematics | Year 6 | Number and Algebra | Fractions and Decimals | Multiply and Divide Decimals by 10, 100 and 1000 | Place Value Function Machine | Less

Place Value Function Machine

60

SQUEEZE

00000



Aim

• To multiply and divide numbers by 10, 100 and 1000, giving answers up to three decimal places.

Success Criteria

- I can compare and order decimal numbers.
- I can multiply decimal numbers by 10, 100 and 1000.
- I can divide numbers by 10, 100 and 1000, giving answers up to three decimal places.



Get in Line!



Each person has a number card.

Your whole class challenge is to stand in a line so that all your numbers are in order from smallest to biggest!





When we multiply a decimal number by 10, the value of each digit is multiplied ten times.

Click on each digit on the on the place value chart to visualise this. We can describe multiplying a number by 10 by saying **that each digit is moving one space to the left**:

Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths
			1	3	2	5

			×	10 ×	10	
Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths

1.325 x 10 = 13.25



When we multiply a decimal number by 100, the value of each digit is multiplied one hundred times.

Click on each digit on the on the place value chart to visualise this. We can describe multiplying a number by 100 by saying **that each digit is moving two spaces to the left**:

Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths
			1	3	2	5

		× 10 0	× 10 D	× ;) 0	× 11 0	
Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths

1.325 x 100 = 132.5



When we multiply a decimal number by 1000, the value of each digit is multiplied one thousand times.

Click on each digit on the on the place value chart to visualise this. We can describe multiplying a number by 1000 by saying **that each digit is moving three spaces to the left**:

Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths
			1	3	2	5

F	× 10	00 🖡 × 10	000 × 10	000 × 1	000	
Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths

1.325 x 1000 = 1325



When we divide a number by 10, the value of each digit is divided ten times.

Click on each digit on the on the place value chart to visualise this. We can describe dividing a number by 10 by saying **that each digit is moving one space to the right**:



	÷ ÷	÷	- 	÷		
Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths

$4285 \div 10 = 428.5$



When we divide a number by 100, the value of each digit is divided one hundred times.

Click on each digit on the on the place value chart to visualise this. We can describe dividing a number by 100 by saying **that each digit is moving two spaces to the right**:



	100			
÷		÷ 1999	\div 300	\div J 00
•				
				· · · · · · · · · · · · · · · · · · ·

Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths

$4285 \div 100 = 42.85$



When we divide a number by 1000, the value of each digit is divided one thousand times.

Click on each digit on the on the place value chart to visualise this. We can describe dividing a number by 1000 by saying **that each digit is moving three spaces to the right**:

Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths
4	2	8	5			

	÷ 1000	÷ 1000	÷ 1000	÷ 1000	
--	--------	--------	--------	--------	--

Thousands	Hundreds	Tens	Ones	tenths	hundredths	thousandths

4285 ÷ 1000 = 4.285





This is the "Place-Value-O-Matic" function machine.

It multiplies and divides numbers by 10, 100 and 1000. Click on the input button to drop a number into the machine. Write the number you think will be created by the machine. **Click on the output button to see if you were correct!**







This is the "Place-Value-O-Matic" function machine.

It multiplies and divides numbers by 10, 100 and 1000. Click on the input button to drop a number into the machine. Write the number you think will be created by the machine. **Click on the output button to see if you were correct!**







REGENT STUDI

This is the "Place-Value-O-Matic" function machine.

It multiplies and divides numbers by 10, 100 and 1000. Click on the input button to drop a number into the machine. Write the number you think will be created by the machine. **Click on the output button to see if you were correct!**

9062





REGENT STUDI

This is the "Place-Value-O-Matic" function machine.

It multiplies and divides numbers by 10, 100 and 1000. Click on the input button to drop a number into the machine. Write the number you think will be created by the machine. **Click on the output button to see if you were correct!**

5.904





This is the "Place-Value-O-Matic" function machine.

It multiplies and divides numbers by 10, 100 and 1000. Click on the input button to drop a number into the machine. Write the number you think will be created by the machine. **Click on the output button to see if you were correct!**







This is the "Place-Value-O-Matic" function machine.

It multiplies and divides numbers by 10, 100 and 1000. Click on the input button to drop a number into the machine. Write the number you think will be created by the machine. **Click on the output button to see if you were correct!**

16.006







Place Value Function Machine

Decimal Place Value Function Decimal Place Value Function Machines

To multiply and divide numbers by 10, 100 and 1000, giving answers

Complete the missing output numbers for the 'Place-Value-O-Mation multiply and divide numbers by 10, 100 and 1000.



To multiply and divide numbers by 10, 100 and 1000, giving answers up to three decimal places.

000

Complete the missing output numbers for the 'Place-Value-O-Matic' function machines, which multiply and divide numbers by 10, 100 and 1000.



ace Value Function Machines

bers by 10, 100 and 1000, giving answers up to three decimal places.

numbers for the 'Place-Value-O-Matic' function machines, which by 10, 100 and 1000.



Focused education on life's walk www.regentstudies.com

Dice Game



REGENT

At the start of each round you will be given a decimal number.



Dice Game

Example





9.184

First I roll a 3 so 9.184 x 100 = 918.4

Then I roll a 5 so 918.4 ÷ 100 = 9.184

Then I roll a 4 so 9.184 x 1000 = 9184

... until time's up!











Aim

• To multiply and divide numbers by 10, 100 and 1000, giving answers up to three decimal places.

Success Criteria

- I can compare and order decimal numbers.
- I can multiply decimal numbers by 10, 100 and 1000.
- I can divide numbers by 10, 100 and 1000, giving answers up to three decimal places.



